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HSSSC Workshop Machinary Operator 1_2020 Cat 23 (18.8.2041)

Paper
1. In tiie Mughal Adminis
isa - .
(A)-?_F_"inancc Minister
(B): Revenue Collector
(C) Treasurer
(D){Ptime Minister
2. mtﬁérming of bevel or groove by material
removal is known as
(A) Backing
(C) Gouging

{ration amil-guzar

(B) Backfire
(D) Weld crack

3. Where is Marble found in Haryana ?

(A) Mahendragarh (B) Gurugram
(C) Karnal (D) Rewari

4. Immanuel Kantisa
(A) German Philosopher
(B) Italian Writer
(C) English Writer
(D) Greek Philosopher

5. What is the brazing temperature for
magnesium ? :
(A) 620 to 760°C (B} 605 to 625°C
(C) 600 to 620°C (D) 1065 to 1205°C

6. Name the highest Sports Award givén by
Haryana Government.
(A) Eklavya Award
(B) Guru Vashisht Award
(C) Vikramaditya Award
(D) Bhim Award

7. O i0 i
n;iizlnﬂt;;maec;tylene ratio in case of
(A) 0.8:1
(C)1.2:1

B) 1:1
D) 2:1

A rectangular coil of copper wires ig
rt;tgtedl 'n a magnetic field. The direction
of the induced current changes opee ;
cach i
(A) Two revolutions
(P:) One revolugion
(C) Haly revolution

ne-foyrh revolution
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@ Yo # - FE s & 7
ol e
(B) T=TE GOeahal

(C) Hrege
(D) 9a= w:ht
2. | ) TR sgd A1 A & fmtor i
FEI A S 7
(A) A (B) SFFA
©) fem (D) 3T
3. RN o YR el S e 7
(A) WERTG (B) TEU™
(C) FHATH (D) @
8 TAIE@HRECWHE ¥
(A) S gl
(B) St B oi@h
(C) S wE
(D) Ifieh Tl

5. ﬁ:ﬁ&m%_maﬁﬂmw% ?
(A) 620 ® 760°C  (B) 605 ¥ 625°C
(C) 600 | 620°C (D) 1065 & 1205°C

6. BTN AR g e 9 T Seaan o
JUERT T T &GS |
(A) ThaTsy 37T
(B) % af¥re arard
(C) fosrmfaey smare
(D) oy 3rad

7. ST W ¥ At # sifedion 3 e
T AT &
(A4) 0.8:1 B) 1:1
Cr12:1 D) 2:1

B aﬁ%ﬁﬁ%mﬁ&ﬁaﬁ@
é;niiﬁﬂ%iﬁqqmm% | S forga
UF 9R Ut # gt 2 |

(A) 2 i
B) = oy
(C) s qofy

(D) <o gufq

B e ——
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Which of the following welding processes
uses non-consumable electrode ?

(A) Laser welding

(B) MIG welding

(C) TIG welding

(D) Plasma welding

Raja Nahar Singh was the last ruler of
which district of Haryana ?

(A) Hisar (B) Ballabhgarh
(C) Ambala (D) Mahendragarh

The surface crack in the weldment of
non-magnetic alloys can be inspected by
(A) X-ray testing

(B) Ultrasonic testing

(C) Dve penetrant testing

(I)) Magna flux method

My mother is twice as old as | am today
and my father is 10 years older than my
mother. My maternal grandfather who is
thrice as old as I am is 75 years. What is

the difference in age between father and | °

grandfather ?
(A) 15 vears (B) 20 years
(C) 10 years (D) 12 years

In oxyacetylene welding, 2 large steel
cylinders containing oxygen and dissolved
acetylene is painted with

colors respectively.

(A) Black and green

(B) Black and marcon

(C) Black and blue

(D)) None of these

Which among the following is the very
famous solo theatrical piece of Manish
Joshs Bismil 7

(A) Kahani Rangmanch Ki

(B) Kahani Rangmahal Ki

(C) Kahani Rangkarmi Ki

(1)) Kahani Rangree Ki

10.

11.

14,

1/2020 (23)

freaferfaa # & Fra-d AfeEn wiFn
.mﬁﬂmmmmt?

e amee fie efamn % fra e % sifem
a9 7

(A) femm (B) Seeg
(C) Staem (D) wEzTg

nz Wﬁﬂﬂ@ﬁl%hﬁmaﬁm
T fF M EEaT R |

(A) qm—i qﬂm
(C) wﬂm

q@nﬁﬁﬂﬁﬁwgﬂﬁmtaﬂtﬁ
frarsft 780 = & 10 af 92 &) W TEER

AmRAR T, A B A

frash s AT IR T ?
A) 1599 (B) 2094
(©) 1094 D) 1294

sAtdefafaet 3fcen 4 sifwiem o gfta

wfirfeef gaa 3 93 e % faftred w 9w
made fFmame

(A) =Ten 3 &

(B) Frent 3 w&A

(C) et 3 frem

(D) T & ¢

frafafiaa § @ 9 - vty st fafee =
witg waa A wd & 7

(A) werf T i

(B) e tmaes Y

(C) e Trdl 6

(D) wErl Trtw &)
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‘Akbarnama’ was translated into

English by ‘
(A) Henry Beveridge (B) Al-Biruni
(C) Robert Sewell (D) Abul Fazl

Laser welding can weld at a ratio
(A) 200to 1 (B) 100to 1
(C) 250 t0 0.5 (D) 150 to 2

The Indira Gandhi Super Thermal Power
Project is located in _____ district of
Haryana.

(A) Kakroi (B) Jhajjar

(C) Yamunanagar (D) Khedar

was developed to enable
recording, rewriting and playback of
high-definition videg (HD), as well as
storing large amounts of data,

(A) DVD-R (B) Blue Ray Disk
(C) DVD-ROM (D) None of these

A resistance welding method in which

amount of electricity ig stored up in |

capacitors and then the

(A) Metal foi] welding
(B) Spike welding

(C) Metal fibye welding
(D) Percussion welding

y in
(A) Naik Harj Singh
(B) Nirmal Chander v;;
(C) Dalbir Singh Suhag
(D) None of the aboye

Which of he followip ’
o g can’t pe th
Probabiljt
experime; '_:,f?o an event of g random
2
(C) 15%
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D) 3 Bsret

A Afeen frm s d Ars W awA £ 7
(A) 2008 1 (B) 100® 1

(C) 260 0.5 (D) 1509 2

¥ et gue erfer wifr e =faon
¥ IECk: A

(A) F1H0g (B) FSoR

(D) @R

T HEN  sifreran T B gy 2
A) g (B) —1.5
(C) 15% D) 0.9
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Yamuna enters Hg
among the follow
locations ?

(A) Tajewalsn

(C) Kalesar forest

Iyana near which
'NE geographical

(B) Hathni Kund
(D) Champasar

In straight polarity welding

(A) Electmde holder is connected to the
negative and work to positive

(B) Work is negative and holder is
earthed

(C) Work is positive and work is
earthed

(D) Holder is positive and work is earthed

H:,HO3 —‘&)X———@—;Bz()s : Xis

(A) HzBU1 (B) I'll:"r()2
(C) H,BO, (D) HBO,
In thermit welding, . powder

is used to ignite the thermit mixture.
(A) Borax

(B) Potash

(C) Calcium carbonate

(D) Barium peroxide

This district of Haryana was called as
‘Irdar’ in ancient times

(A) Rohtak (B) Rewari

(C) Fatehabad (D) Kaithal

IfmnA=—;—,tanB= L then tan (A + B) =

3
]
(A) s (B) C;
(©),1 D) 3

This flower has the largest area under
cultivation in Haryana

(A) Rose (B) Marigold

(C) Gladiolus (D) Lily

172020 (23)

22. e § frefafaa § & frg rivfers
T A 7 T wfire gt} 7

(A) ATETE (B) & Fz
(C) FHT (D) =R

23. Wz O afcEn d

(A) TS BIeSt 1 FURA § 3w 1
AT ® e S @

(B) T4 =l B 3R Breet # 3
E 1518

(C) T = gEa 3 FE ) 3 b
el 2

(D) T F 9 3R Fd B aref foen
e @

24, HBO, =2 X—4,B0 ;X8

(4) H,BO, (B) HBO,
(C)H,BO, (D) HBO,

25, uffz afeend, qrIg 1 399 gfifz
firsror it weaferd 0 o AU e sman & |
(A) IREE
(B) dreTs
(€) Ffenm T
(D) Sfem teaEs

% ¥F 3 TR F =T '@ T TEr’

Fed 9
(A) Tgaa (B)
(C) FAETETE (D) gt

27. AR tanA= %—.mBz%?ﬁmeBF
@) 2 (B) 0

6 1

O 1 (D) 6

28. @ §w # ghawn ¥ waffus &5 w3
S €
(A) e (B)
(C) ®fgatie| (D) forett
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29. Beryllium shows diagonal relntinn_ship to
' (A) Galium (B) .r\lumim_um
(C) Indium (D) Magnesium

flame

30. Castiron is best welded by
of oxyacetylene welding.
(A) Neutral (B) Carburizing

(C) Oxidizing (D) None of these

— is known as “Mini Cuba” in
India due to the large number of boxers

who hail from the region.
(A) Palwal (B) Bhiwani
(C) Ambala (D) Karnal

The book ‘Citizenship and Social Class’
1s written by

(A) T. H. Green
(C) Alfred Marshall (D) J. S. Mill

al.

32,

33. A type of welding development that

quickly and efficiently welds fastening
devices to plates and other surfaces
without drilling holes js known as
(A) Spot welding
(B) Explosive welding
(C) Friction welding
(D) Stud welding
34. InlIndia Ease of Living Index is released by
(A) Ministry of Housing and Urbay
Affajrs
(B) Ministry of Rural Development
(C) Ministry of Home Aftajrg
(D) None of the above
35. ABCDEFGH]
TUVWXYZ

Mt:jch letter in this series which is the
10% letter to the left of the last byt one
letter of the alphabet ?

AL B) M
&2 M) N

(B) T. H. Marshall |

29.

ﬂo.

31.

32,

33.

34,
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Afféam & |y forafl Gay eviar g |

(A) fferm (B) Tgffam
(C) 3feam (D) Befifyrm

ittt afegn #i T B
FIZ AE F HaY 2752 dce R s e |

(A) =z (B) Srairefem
(C) Tt (D) 574 & Frd 7

T H Tt g’ when e @ i

T & A fires T o gakars o

(A) 99 (B) farh

(C) FHarer (D) FETE

@ ‘R e e e’

%ﬂéﬁl s
(B) 4. w3 umle

(A) & =, e
(C) Ahe wfer (D) . wq. fire

U TR feen foree, S aiv v s
ﬁ@%ﬂ%ﬁ%ﬁmmm&r%ﬁhﬁaﬂ?
FIHAT & IS AT, B FRI AL |
(A) Wiz afcem

(B) Tariifes AfeEn

(C) fram afsen

(D) e afcen

I # S e geres

I R s R 1y
(A) 3T N e T e

B) 7o faemg vare

(C) & 9 NIy

(D) IR 4 A FE 3

ABCDEFGHIJK
TUVWXYZ

m’i@mﬁaﬂfwm%mﬁnﬁwséam%
AR 10 af e F-a1 2 ?

(A) L By M
€ o (D) N
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Forge welding ig bes
(A) Wrought iron
(B) Stainless stee]
(C) High carbon stee]
(D) Cast iron

t suiteq for

Who among the following was the first

woman politician of Haryana who served
as a Governor of g State ?

(A) Shanno Devi (B) Chandrakala
(C) Chandrawati (D) Renuka Bishnoi

In a certain code language, if

CABINET = 70 and BEAUTY = 60, then
PRODUCTION =2

(A) 110
{C) 90

(B) 120
(D) 100

The temperature of plasma torch is of
order

(A) 200007 to 34000° K
(B) 10000° to 14000° K
(C) 15000° to 28000° K
(D) 25000° to 44000° K-

This dance form of Haryana is conducted
in the form of questions and answers.

(A) Phag (B) Dhamal
(C) Loor (D) Jhumar

computers are large and very
powerful computers with very high

“memory capacity.

(B) Micro: |
(D) Main frame

(A) Super
(C) Mini

A welding technique to build up wear
points on machinery, tools and shafts is
known as

(A) Diffusion welding

(B} Metal transfer

(C) Surfacing’

w)) Hardfacing

Ay g
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wis Afesn fro® fore a= 7

&) Freat < i

(B) Vg e

(€) 3 FE e

(D) FRT AT

efamn h vl afeen et AR R, R
T o Ta9Te o &9 F 1 frr & 7

(&) I et (B) Tz

(C) TFTER (D) TreH! Forerd

ferlt wipldes T AR CABINET = 70 3%
BEAUTY =60 & @ PRODUCTION = ?
(A) 110 (B) 120

(C) 90 _ (D) 100

THT 21E 1 a9 e g ?

~\(A) 20000° § 34000° K

(B) 10000° & 14000° K
(C) 15000° T 28000° K
(D) 25000° | 44000° K -

Bfemm i 7% T Ieh Sl e A s
BRI R
(A) B (B) T
(C) T (D) g/

R T T g N HHYH
N & Forht AR aga ot et
&) TR (B) W
©) frft (D) T ¥
Tefill, 2o 3T TR O O AfeE e d
free s yiEs __ F@I@e |
(&) g afeEm
(B) AT TR
(C) FTHfET
(D) BTG
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. M — ﬂf
Match the following u‘mveraltma
Haryana with their location.

University [..ocatinll:
a. Chaudhary Devilal 1. R.ohta
b. Guru Jambeshwar 2 Si_rﬁa
c. Maharshi Dayanand 3. Hisar

d. Maharshi Markandeshwar 4. Ambala
Codes:

a'b ¢ d
A) 4 1 3 2
@ 4 38 1 2
@) 2 1 3 4
M 2 3 1 4

As the CPU is located on a small chip, it
is also called the

(A) Vacuum Tubes

(B) Microprocessor

(C) Integrated Circuits

(D) Transistors

Undercuts in weldments are caused due to
(A) Low welding current

(B) Excessive welding current

(C) Wrong flux

(D) Wrong selection of electrode

The language which was made leading
language of Mughal Court by Akbar

(A) Hindi (B) Urdu

(C) English (D) Persian

In arc welding arc 15 created be
electrode and work by

(A) Flow of current

(B) Voltage

(C) Materia] characterigtics
(D) Contacy Fesistance

tween the

The Indian
eetablished

(A) Mahatma Gandhiji

(B) Jaya Prakash Na rayan
(C) Babasahep Ambedkar
(D) None of the above

opinion w; -
by ' 8 newspaper

44,

45.

46.

47,

48,

1/2020 (23)
frafafaa efmn & fvafaem #1376
i @ fremgu |
RryaRemea Rkl

. ey T 1. g
E.gwiam g,
c. el 2ame 3. %’GT{
d. wefd nehvevat —4. e

Codes :

(A)
(B)
(©)
D)

Hidiy v
& T

(C) 3R wfhe
@) gifrex

%ﬁzﬁﬁmmmﬁm%?
(A) T IfFEn oz

B) At Afeen w5

(C) T A

(D) RIS 1 e T

mﬁ‘ﬁmmaﬁwmﬂﬁwﬂam
ST o 7

@ & ®)

(C) sh (D) wEh

3 Afegn § ezt s e % i
BT 31 ey fkm sman 2 2

(A) HTT ¥ YamR
(B) S

(C) vitfors

(D) Hye yfedy
sfeam anfufias
T THER 9 B |
(A) WETeH mifish
(B) 57 o191 AR
(C) METHRS e
(D) 35 ¥ q 1§ 7

[ S0 o= IS -

&% O L O

ﬂg [ S L ]
[N S T =
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The commonly used flux in brazing is
(A} Resin (B3) Borax
(C) Silica () Cellulose

The battle of Karmal was fought between
(A) Nadir Shah and Aurangzeb c
(B) Nadir Shah and Mohammad Shah
(C) Nadir Shah and Shah Alam

(D) Shah Alam and Mohammad Shah

If A= {1, 2} is a set containing 2 elements
1 and 2. The number of elements in the
power sct of A is
(A) 2
(C) 8

(B) 4
(n1

The matenal used for coating the electrode
i8 called as

(A) Slag
(C) Deoxadizer

(B) Binder
(D) Flux

The highest elevated area of Aravali hills

in Haryana 18

(A) Dhanei hills (B) Karoh peak

£,
%

(C) Tipra hills (D) Mewat hills

49. 5 amre o T e R aren Teea
REC (B) artm

(©) faferm (D) HefeTH

FAH F1 43 F ofra &g |
(A) Tifet g 3 s

(B) fex g 3i Hrewe s

(C) iz g 3i I Arem

(D) T 311em 3R AeE e

The eye dui_'ect hypermetropia can bu{ ?ﬁm @?E’fﬁm) Hl —_—
corrected using /ﬁammﬂﬁiﬁfmmmtl

(A) Convex lens (B) Concave lens (A) 399 &9 (B) add &g
(C) Cylindrical lens (D) Plain mirror (C) TR &| (D) B9 240
The heat generated in resistance welding | 52, wiaog afeen § 32 =7 Fes zm &
18 given by A7

(A) H = 'Rt ®) H=1¥Rt (A) H=FRt B) H=I¥Re
(C) RtN12=H (D) H=RIt (C) Rt /M =H (D) H=R:It
‘Dahine Hath Ka Shankh’ is creation of ﬂﬁ T EmTE _ fwmi
(A) Bansilal L N () e

(B) Ali Baksh (B) r<ht s@w

(C) Sayyed Ghulam Hussain Shah (C) ¥ T TéA TR

(D) Yogeshwar Balak Ram (D) AR FTeih T

94,

R A = {1, 2} @ wyeaa & | ol 7
13k 2 % | A & v eqeag & Al @

HE R
(A) 2 B) 4
(C) 8 (D) 1
56. ﬁﬁ@saﬁﬁﬁn%m%mﬁtaﬁw
FEI AR ?
(A) =X (B) AER
(C) oTfERs (D) v
56. fton o mar-ﬂ% wddl 1 g98 S w=m
|
(A) uTH gda (B) Fire fima
() fegu gda (D) vara gea

D
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Prafifiad 3 & FH -1 wid SR Ty

.1y of the following 18 the main 67. mg@m% 7
57. Which ot th sulture Project Tﬁm (‘-[ﬁ:{—({@ﬁ)
objective of Green ABDCH I 1oy fora v Y
(Green — Ag) of Government O '/ (A) Afferh ateo &M %
(A) Transforming Indian Agric fits & "ge 3 qgﬁt[?‘f fefagar sir
for global environment bene 1 -
and the conservation of critica o8 5 qqu 1 HLET
biodiversity and forest landscap B) aMyfrs Hiu qehAlD B T
(B) Transforming Indian Ag:-mculture &)
by utilizing modern agriculture Rl Tfﬁ LIECREL
technologies ; IR FeTAT T I
(C) Transforming Indian Agriculture by (©) < H tcnikaEr:
promoting organic farming 1n the - Efﬁ 1 SETHT
country i
(1)) None of the above : D) B A E I T
58. Soft solders usually melt below 58. & t I ,3“”Emm+———ﬁiﬁq
temperature. : e )
(&) 350°C ®B) 700°C - (&) 3505C (B) 700°C
(C) 600°C (D) 500°C (C),600°C (D) 500°C
59. This city is called as nano city of Haryana |* 59, I e B mﬁmw%
(A) Panchkula (B) Palwal ! (A) TEFe (B) getae
{C) Gurugram (D). Jhajjar 85 I (C) TeIm syt {3} ERul
60. Consider the following statements about'| 60. 5 Sf G-I+ & TR ¥ fF=Afeifgg i
3G technology. - fram ﬁﬁm{ F
a. It is the next generation cellular AT ﬁﬁﬁ( rETiEd
technology that will provide faster a. 48 tﬁa &l %’
and more reliable communication Sl 3TegT ot S % gy S oW
g ;tl:;hul;ra low lzte}x:cy. IR fayaoig g9 yem FaT|
. Bou orea and the US have féror Fifen 7O qgﬁ
mmmerc‘ia] 5G services. i IRATT @ 2|
Choose the right option given helow : =1 fou o ey 3q ol fawey ﬁﬁQ :
?;; gﬂtli:,: tli:e statement (b) is true (A) A FER (b) T2
olh the state :
B slatements (a) and (b) are (B) T (a) 3 (b) S o &
ES; ]g}an-l}’ the statement (a) is true (C) FIA FUH (a) Gt &
th (a) and (b) are false (D) FUH (a) AR (b) T ToTq §
61.  Acetylene gas is generated from
61. vfafeeha g Iy
(A) Carbon (A) FTH § iﬁ?ﬁ% |
(B) Calcium chloride (B) Ffciram Feiuge
(C) Water ang caleium carbide (C) 9Tt 3R %?@T?F[ EE
5 (D) Caleium caybonate (D) FiEmm FEte

-10-
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62. Ifthe day before yesterda

66.

67.
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when will Sunday be 9 - | Pursday,

(A) Today

(B) Two days after today
(C) Tomorrow

(D) Day after tomorrow

Soft solder essentially a
(A) Tin silver bage

(B) Tin lead base
(C) Bismuth lead base
(D) Bismuth tin base

The highest peak of Haryana is located
in this district '
(A) Panchkula

(B) Sirsa
(C) Bhiwani 1

(D) Palwal

In which type of welding a pool of molten
slag is used

(A) Electroslag
(C) MIG (D) TIG

Which one of the following cities of
Haryana was under the control of last
Mughal ruler ?

(A) Shahjahanabad (B) Sonipat

(C) Haujkhas (D) Panipat

If the letters of the word ‘CARBON’ are
arranged alphabetically from left to right.
How many letters will remain at the same
position ?
(A) One

(C) Three

(B) Two
(D) Four

The main criterion for selection of
electrode diameter in arc welding is

(A) Material to be welded

(B) Type of welding processes
(C) Thickness of material

(D) Voltage used

dite

64.

(B) Submerged arc | o

66.

67.

Gai
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ofe ofi o1 A vEa 1 e e a1, @ oEm
=& g ?

(A) AT
(B) 34 4§ R 9
(C) &
(D) &1 % 7%+ fam
siedes afad s mawE R
(A) 7 foeatam
(B) Ra sz am
(C) R S8 9y
(D) foramy 27 5w
famn ) gad S A fra e 3
femd?
(A) TEEE B) fmm
(C). Pt D) T
R AR iR g F
et 1 3G o e € 7
(&) SR (®) T
(C) THIEST (D) SAESH
frefrfiaa 1 & shemn i FH -8 TR Al
T IV % T 7 o ?
(A) TESEAER  (B) Wi
(©) @™ (D) THTa
af2 7158 ‘CARBON’ %! 91d & Ird aurigerd
# Frara STe A foRa e 3T B FH W
T N 7
(A) TF ® X
(C) @1 (D) IR
s Afeen # e =W % 9 & R
TEd AES 1 8 7
(A) dee ) 9 reh arf
(B) afcgn afFnail 1 TR
(C) arft ) weTE
(D) FRpC

CA R B o D

a ki Q
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This highway has the largest toll plaza

in India

(A) KMP Expressway

(B) Delhi - Gurgaon Expressway

(C) GT Road

(D) Sher Shah Suri Marg

The welding technique where the flame of
the torch is directed away the completed
weld

(A) Overhead welding

(B) Backhand welding

(C) Forehead welding
(1)) Horizontal welding

Name the fort built by Raja Gajpat Singh
in 1775.

(A) Gohana Fort  (B) Loharu Fort
(C) Jind Fort (D) Kaithal Fort

Pascaline was used to perform
(A) Addition and Multiplication
(B) Addition and Subtraction along with
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proportion of

(A) 1:1 (B) 3. 1

©)1:3 (D) None of the above
Basai wetland j ) ) )

of Haryans 7 18 located in which district
(A) Jhajjar

(B) Gurugram

(C) Kur ukshetra (D) Faridabad

In Dur!aas method, the nitrogen containing
organic compound, when heated with

in an atmosphere of CO, yields
free nitrogen. 5

(A) AgO
(C) CuO

(B) NaSCN
(D) Na,PO,

Automatic wire mesh welder is capable of
making a wire mesh width upto

meters.
(A) 2.6
©) 3

(B) 4
D) 4.5

A box contains 3 blue, 2 white and 4 red
marbles. If a marble is drawn at random
from the box, what is the probability that
it will be white in colour ?

! .
@ = ® 3

© % (D) None of these

The type of welding used to join foil and

thin strip material is known as
(A) Diffusion welding

(B) Indent lap welding

(C) Explosive welding

(D) Thermit welding

The cour.t verdict declaring that a person
is 'not guilty of the crime which he/she was
tried for by the court is called as

(A) Writ (B) Acquittal
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English La a

Add suitable question tag to the following
statement.
All the children went to bed at 9 p.m.,

2

(A) were there
(B) could they
(C) did they

(D) didn't they

Fill in the blank using appropriate forms
of the word given in bracket from the
alternatives given below them.

It brings each other to (destroy).
(A) destruction

(B) destructive

(C) destruct

(D) destroy

In the following question, out of the given
group of words, choose the mis-s pelt
one,

(A) Familiar
(B) Simmer

(C) Hammer
(D) Grammer

The question consists of an expression,
followed by four possible alternatives.
Selecfi the one which gives the most correct
meaning of the given expression.

To smell a rat

(A) to be in a rotten mood
(B) to suspect foul dealings
(C) a bad smell

(D) first signs of a plague epidemic

1/2020 (23)

i st

| wifew & wfy e $i W AR F T

_ wmwEmEa il
(A) w9

(B) ATHK *

(C) famrlh

(D) 7 & Fid 7l

d;“ ‘@n‘mw&ﬁﬁﬁmm_% |

(C) Ryt
(D) 5 @ FiS 7

@ T R ) %

(A) G 3T
(B) 90T ST

(C) TR 4H &A1
(D) 78 8 % 7

TR TR IR, 1
El kB N P

(A) *q
(B) =

(C) =

(D) T & Frd el

-14-






